BID TABS

PROJECT 23-1042 13th AVENUE & 16th PLACE RESURFACING

BID DATE: APRIL 26, 2023

		DID DATE. AI	PRIL 20, 202	_				1	
			Cornerstone Pavers, LLC Racine, WI				s & Son, Inc. ne, WI	LaLonde Contractors, Inc. Waukesha, WI Unit Price Total	
Item Number	Roadway	Quantity	Unit	Unit Price Total		Unit Price Total			
201.0120	Clearing	80	ID	\$30.00	\$2,400.00	\$45.00	\$3,600.00	\$38.00	\$3,040.00
201.0210	Grubbing (Undistributed)	100	SY	\$10.00	\$1,000.00	\$15.00	\$1,500.00	\$7.00	\$700.00
201.0220	Grubbing (Ondistributed)	80	ID	\$13.00	\$1,040.00	\$30.00	\$2,400.00	\$7.00	\$560.00
204.0100	Removing Concrete Pavement	488	SY	\$8.55	\$4,172.40	\$10.00	\$4,880.00	\$16.11	\$7,861.68
204.0105	Removing Pavement Butt Joints	277	SY	\$3.25	\$900.25	\$10.00	\$2.77	\$0.01	\$2.77
204.0103		2680	SY	\$3.25	\$8,710.00	\$5.00		\$4.33	\$11,604.40
204.0120	Removing Asphaltic Surface Milling	1890	LF	\$6.25	\$11,812.50	\$8.00	\$13,400.00 \$15,120.00	\$6.34	\$11,804.40
204.0155	Removing Curb & Gutter	676	SY	\$5.77	\$3,900.52	\$10.00		\$10.13	
	Removing Concrete Sidewalk		CY		. ,		\$6,760.00	· ·	\$6,847.88
205.0100	Excavation Common	560		\$22.90	\$12,824.00	\$22.00	\$12,320.00	\$41.20	\$23,072.00
305.0120	Base Aggregate Dense 1 ¼ Inch	680	TON	\$10.00	\$6,800.00	\$20.00	\$13,600.00	\$25.00	\$17,000.00
416.0160	Concrete Driveway 6-Inch	230	SY	\$63.45	\$14,593.50	\$65.00	\$14,950.00	\$65.02	\$14,954.60
417.0180	Concrete Driveway 8-Inch	281	SY	\$70.95	\$19,936.95	\$70.00	\$19,670.00	\$75.00	\$21,075.00
416.0610	Drilled Tie Bars	350	EACH	\$6.95	\$2,432.50	\$8.00	\$2,800.00	\$11.37	\$3,979.50
455.0605	Tack Coat	530	GAL	\$3.50	\$1,855.00	\$3.00	\$1,590.00	\$2.32	\$1,229.60
460.5223	HMA Pavement 3 LT 58-28 S	320	TON	\$94.00	\$30,080.00	\$80.00	\$25,600.00	\$76.31	\$24,419.20
460.6223	HMA Pavement 3 MT 58-28 S	360	TON	\$94.00	\$33,840.00	\$80.00	\$28,800.00	\$78.61	\$28,299.60
460.5225	HMA Pavement 5 LT 58-28 S	190	TON	\$94.00	\$17,860.00	\$120.00	\$22,800.00	\$117.13	\$22,254.70
460.6225	HMA Pavement 5 MT 58-28 S	210	TON	\$94.00	\$19,740.00	\$110.00	\$23,100.00	\$107.10	\$22,491.00
601.0600	Concrete Curb Pedestrian	16	LF	\$35.00	\$560.00	\$50.00	\$800.00	\$42.35	\$677.60
602.0405	Concrete Sidewalk 4-Inch	7190	SF	\$6.98	\$50,186.20	\$7.00	\$50,330.00	\$6.10	\$43,859.00
602.0415	Concrete Sidewalk 6-Inch	860	SF	\$8.24	\$7,086.40	\$8.00	\$6,880.00	\$7.75	\$6,665.00
602.0515	Curb Ramp Detectable Warning Field Natural Patina	90	SF	\$38.00	\$3,420.00	\$65.00	\$5,850.00	\$38.19	\$3,437.10
611.8110.1	Adjusting Manhole Covers (Sanitary)	5	EACH	\$824.00	\$4,120.00	\$825.00	\$4,125.00	\$900.00	\$4,500.00
619.1000	Mobilization	1	EACH	\$40,000.00	\$40,000.00	\$47,000.00	\$47,000.00	\$57,938.13	\$57,938.13
625.0100	Top Soil (4-Inch)	1002.9	SY	\$7.50	\$7,521.75	\$9.00	\$9,026.10	\$4.20	\$4,212.18
628.7020	Inlet Protection Type D	19	EACH	\$75.00	\$1,425.00	\$85.00	\$1,615.00	\$125.00	\$2,375.00
629.0210	Fertilizer Type B	5	CWT	\$75.00	\$375.00	\$85.00	\$425.00	\$80.00	\$400.00
631.0300	Sod Water	120	MGAL	\$28.00	\$3,360.00	\$35.00	\$4,200.00	\$35.00	\$4,200.00
631.1000	Sod Lawn	1002.9	SY	\$7.50	\$7,521.75	\$9.00	\$9,026.10	\$9.20	\$9,226.68
637.2210	Signs Type II Reflective H	31	SF	\$29.00	\$899.00	\$33.00	\$1,023.00	\$44.00	\$1,364.00
638.2602	Removing Signs Type II	10	EACH	\$18.00	\$180.00	\$25.00	\$250.00	\$25.00	\$250.00
638.3000	Removing Small Signs Supports	3	EACH	\$18.00	\$54.00	\$25.00	\$75.00	\$25.00	\$75.00
643.5000	Traffic Control	1	EACH	\$3,400.00	\$3,400.00	\$6,000.00	\$6,000.00	\$5,287.50	\$5,287.50
650.5500	Construction Staking Curb, Gutter and Curb & Gutter	1850	LF	\$1.60	\$2,960.00	\$2.00	\$3,700.00	\$1.60	\$2,960.00
650.9000	Construction Staking Curb Ramps	9	EACH	\$165.00	\$1,485.00	\$100.00	\$900.00	\$165.00	\$1,485.00
650.9910	Construction Staking Supplemental Control (Project)	1	LS	\$975.00	\$975.00	\$500.00	\$500.00	\$975.00	\$975.00
690.0250	Sawing Concrete (Full Depth)	4378	LF	\$1.98	\$8,668.44	\$2.00	\$8,756.00	\$1.95	\$8,537.10
SPV.0035.1	Unclassified Excavation & Backfill	339.8	CY	\$5.90	\$2,004.82	\$7.00	\$2,378.60	\$1.00	\$339.80
	Repair Broken Sprinkler System	2000	DOL	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00
	Adjusting Water Valves	10	EACH	\$175.00	\$1,750.00	\$275.00	\$2,750.00	\$400.00	\$4,000.00
	Adjusting Curb Boxes	17	EACH	\$175.00	\$3,315.00	\$275.00	\$4,675.00	\$450.00	\$7,650.00
	Remove, Salvage & Reinstall Mailboxes	10	EACH	\$193.00	\$1,100.00	\$125.00	\$1,250.00	\$110.00	\$1,100.00
	2-3/8" OD, 16 GA Galvanized Steel Poles, 12 Foot	3	EACH	\$160.00	\$480.00	\$200.00	\$600.00	\$225.00	\$675.00
	30-Inch Round V-Loc	3	EACH	\$100.00	\$270.00	\$100.00	\$300.00	\$150.00	\$450.00
37 V.0000.7	SU-INCH ROUND V-LOC	ა	EACH	φ90.00	⊅∠/∪.∪∪	φ 100.00	φ300.00	φ150.00	φ450.00

SPV.0090.2	Concrete Curb & Gutter 30-Inch Type D (4-Inch Head)	1270	LF	\$22.60	\$28,702.00	\$26.00	\$33,020.00	\$24.85	\$31,559.50	
SPV.0090.3	Concrete Curb & Gutter 42-Inch Type D	620	LF	\$38.00	\$23,560.00	\$26.00	\$16,120.00	\$42.18	\$26,151.60	
SPV.0105.1	No Parking Signs – Laminated and Property Owner Notifications	1	LS	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00	\$1,586.00	\$1,586.00	
SPV.0180.1	Concrete Pavement Milling	1790	SY	\$9.00	\$16,110.00	\$6.00	\$10,740.00	\$5.29	\$9,469.10	
	Roadway Total		Roadway Total	\$418,8	386.98	86.98 \$449,207.57			\$464,779.82	
Item Number	Storm Sewer	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	
204.0210	Removing Manholes	3	EACH	\$800.00	\$2,400.00	\$830.00	\$2,490.00	\$1,000.00	\$3,000.00	
204.0220	Removing Inlets	12	EACH	\$300.00	\$3,600.00	\$260.00	\$3,120.00	\$500.00	\$6,000.00	
204.0245	Removing Storm Sewer (Var. Diameter)	300	LF	\$19.75	\$5,925.00	\$21.00	\$6,300.00	\$24.00	\$7,200.00	
320.0145	Concrete Base 8-Inch	220	SY	\$63.00	\$13,860.00	\$60.00	\$13,200.00	\$60.00	\$13,200.00	
520.8000	Concrete Collars for Pipe	5	EACH	\$250.00	\$1,250.00	\$500.00	\$2,500.00	\$500.00	\$2,500.00	
608.0512	Storm Sewer Pipe Reinforced Concrete Class V 12-Inch	280	LF	\$95.00	\$26,600.00	\$110.00	\$30,800.00	\$110.00	\$30,800.00	
608.0515	Storm Sewer Pipe Reinforced Concrete Class V 15-Inch	70	LF	\$98.00	\$6,860.00	\$126.00	\$8,820.00	\$120.00	\$8,400.00	
608.0521	Storm Sewer Pipe Reinforced Concrete Class V 21-Inch	35	LF	\$135.00	\$4,725.00	\$142.00	\$4,970.00	\$140.00	\$4,900.00	
611.0624	Inlet Covers Type H	13	EACH	\$880.00	\$11,440.00	\$900.00	\$11,700.00	\$950.00	\$12,350.00	
611.2004	Manholes 4-Ft Diameter	1	EACH	\$5,000.00	\$5,000.00	\$3,600.00	\$3,600.00	\$5,000.00	\$5,000.00	
611.2004.1	Manholes 4-Ft Diameter (Doghouse)	2	EACH	\$5,000.00	\$10,000.00	\$3,500.00	\$7,000.00	\$5,500.00	\$11,000.00	
611.2005	Manholes 5-Ft Diameter	2	EACH	\$5,800.00	\$11,600.00	\$4,700.00	\$9,400.00	\$5,300.00	\$10,600.00	
611.3004	Inlets 4-Ft Diameter	2	EACH	\$2,600.00	\$5,200.00	\$2,300.00	\$4,600.00	\$2,000.00	\$4,000.00	
611.3230	Inlets 2x3-FT	14	EACH	\$1,900.00	\$26,600.00	\$2,100.00	\$29,400.00	\$2,100.00	\$29,400.00	
650.4000	Construction Staking Storm Sewer	21	EACH	\$160.00	\$3,360.00	\$150.00	\$3,150.00	\$160.00	\$3,360.00	
SPV.0060.4	Manhole Covers (Storm)	7	EACH	\$820.00	\$5,740.00	\$700.00	\$4,900.00	\$900.00	\$6,300.00	
SPV.0060.5	Inlet Covers Driveway	3	EACH	\$890.00	\$2,670.00	\$950.00	\$2,850.00	\$1,000.00	\$3,000.00	
SPV.0060.8	Sump Pump Connection and Cleanout	10	EACH	\$300.00	\$3,000.00	\$670.00	\$6,700.00	\$1,250.00	\$12,500.00	
SPV.0090.1	Sump Pump Connection – Pipe	350	LF	\$32.00	\$11,200.00	\$45.00	\$15,750.00	\$55.00	\$19,250.00	
SPV.0165.1	Polystyrene Insulation for Water Mains and Services	200	SF	\$4.00	\$800.00	\$4.00	\$800.00	\$11.00	\$2,200.00	
	Storm Sewer Total				\$161,830.00 \$172,0		050.00	.00 \$194,96		
	Bid Total				716.98	\$621,	257.57	\$659,739.82		

BID TABS

PROJECT 23-1042 13th AVENUE & 16th PLACE RESURFACING

BID DATE: APRIL 26, 2023

				Payne & I	Dolan, Inc.				
				Kenos	ha, WI				
Item Number	Roadway	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
201.0120	Clearing	80	ID	\$55.54	\$4,443.20				
201.0210	Grubbing (Undistributed)	100	SY	\$3.01	\$301.00				
201.0220	Grubbing	80	ID	\$40.39	\$3,231.20				
204.0100	Removing Concrete Pavement	488	SY	\$10.00	\$4,880.00				
204.0105	Removing Pavement Butt Joints	277	SY	\$0.01	\$2.77				
204.0120	Removing Asphaltic Surface Milling	2680	SY	\$5.17	\$13,855.60				
204.0150	Removing Curb & Gutter	1890	LF	\$8.00	\$15,120.00				
204.0155	Removing Concrete Sidewalk	676	SY	\$10.00	\$6,760.00				
205.0100	Excavation Common	560	CY	\$22.00	\$12,320.00				
305.0120	Base Aggregate Dense 1 1/4 Inch	680	TON	\$20.00	\$13,600.00				
416.0160	Concrete Driveway 6-Inch	230	SY	\$65.00	\$14,950.00				
417.0180	Concrete Driveway 8-Inch	281	SY	\$70.00	\$19,670.00				
416.0610	Drilled Tie Bars	350	EACH	\$8.00	\$2,800.00				
455.0605	Tack Coat	530	GAL	\$2.78	\$1,473.40				
460.5223	HMA Pavement 3 LT 58-28 S	320	TON	\$91.21	\$29,187.20				
460.6223	HMA Pavement 3 MT 58-28 S	360	TON	\$93.97	\$33,829.20				

400 5005	LIMA D	400	TON	£440.04	#00 004 00				
460.5225	HMA Pavement 5 LT 58-28 S	190	TON	\$140.01	\$26,601.90				
460.6225	HMA Pavement 5 MT 58-28 S	210	TON	\$128.03	\$26,886.30				
601.0600	Concrete Curb Pedestrian	16	LF	\$50.00	\$800.00				
602.0405	Concrete Sidewalk 4-Inch	7190	SF	\$7.00	\$50,330.00				
602.0415	Concrete Sidewalk 6-Inch	860	SF	\$8.00	\$6,880.00				
602.0515	Curb Ramp Detectable Warning Field Natural Patina	90	SF	\$65.00	\$5,850.00				
611.8110.1	Adjusting Manhole Covers (Sanitary)	5	EACH	\$825.00	\$4,125.00				
619.1000	Mobilization	1	EACH	\$36,500.00	\$36,500.00				
625.0100	Top Soil (4-Inch)	1002.9	SY	\$6.50	\$6,518.85				
628.7020	Inlet Protection Type D	19	EACH	\$125.00	\$2,375.00				
629.0210	Fertilizer Type B	5	CWT	\$151.00	\$755.00				
631.0300	Sod Water	120	MGAL	\$151.00	\$18,120.00				
631.1000	Sod Lawn	1002.9	SY	\$16.50	\$16,547.85				
637.2210	Signs Type II Reflective H	31	SF	\$88.00	\$2,728.00				
638.2602	Removing Signs Type II	10	EACH	\$150.00	\$1,500.00				
638.3000	Removing Small Signs Supports	3	EACH	\$150.00	\$450.00				
643.5000	Traffic Control	1	EACH	\$22,003.22	\$22,003.22				
650.5500	Construction Staking Curb, Gutter and Curb & Gutter	1850	LF	\$2.00	\$3,700.00				
650.9000	Construction Staking Curb Ramps	9	EACH	\$100.00	\$900.00				
650.9910	Construction Staking Supplemental Control (Project)	1	LS	\$500.00	\$500.00				
690.0250	Sawing Concrete (Full Depth)	4378	LF	\$2.00	\$8,756.00				
SPV.0035.1	Unclassified Excavation & Backfill	339.8	CY	\$7.00	\$2,378.60				
SPV.0055.1		2000	DOL	\$1.00	\$2,000.00				
SPV.0060.1	Adjusting Water Valves	10	EACH	\$275.00	\$2,750.00				
	Adjusting Curb Boxes	17	EACH	\$275.00	\$4,675.00				
	Remove, Salvage & Reinstall Mailboxes	10	EACH	\$250.00	\$2,500.00				
	2-3/8" OD, 16 GA Galvanized Steel Poles, 12 Foot	3	EACH	\$250.00	\$750.00				
	30-Inch Round V-Loc	3	EACH	\$250.00	\$750.00				
SPV.0090.2	Concrete Curb & Gutter 30-Inch Type D (4-Inch Head)	1270	LF	\$26.00	\$33,020.00				
	Concrete Curb & Gutter 42-Inch Type D	620	LF	\$26.00	\$16,120.00				
	No Parking Signs – Laminated and Property Owner Notifications	1	LS	\$200.01	\$200.01				
SPV.0180.1	Concrete Pavement Milling	1790	SY	\$6.33	\$11,330.70				
			Roadway Total		725.00				
Item Number	Storm Sewer	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
204.0210	Removing Manholes	3	EACH	\$830.00	\$2,490.00	0111111100	rotai	OTHER FIGURE	Total
204.0220	Removing Inlets	12	EACH	\$260.00	\$3,120.00				
204.0245	Removing Storm Sewer (Var. Diameter)	300	LF	\$21.00	\$6,300.00				
320.0145	Concrete Base 8-Inch	220	SY	\$60.00	\$13,200.00				
520.8000	Concrete Collars for Pipe	5	EACH	\$500.00	\$2,500.00				
608.0512	Storm Sewer Pipe Reinforced Concrete Class V 12-Inch	280	LF	\$110.00	\$30,800.00				
608.0515	Storm Sewer Pipe Reinforced Concrete Class V 15-Inch	70	LF	\$110.00	\$8,820.00				
608.0521	Storm Sewer Pipe Reinforced Concrete Class V 21-Inch	35	LF	\$142.00	\$4,970.00				
611.0624	Inlet Covers Type H	13	EACH	\$900.00	\$11,700.00				
611.2004	Manholes 4-Ft Diameter	13	EACH	\$3,600.00	\$11,700.00				
611.2004		2	EACH	\$3,500.00	\$7,000.00				
611.2004.1	Manholes 4-Ft Diameter (Doghouse)	2	EACH	\$4,700.00	\$9,400.00				
	Manholes 5-Ft Diameter		EACH						
611.3004	Inlets 4-Ft Diameter	14	EACH	\$2,300.00	\$4,600.00				
611.3230	Inlets 2x3-FT			\$2,100.00	\$29,400.00				
650.4000	Construction Staking Storm Sewer	21	EACH	\$150.00	\$3,150.00				
SPV.0060.4	Manhole Covers (Storm)	7	EACH	\$700.00	\$4,900.00				

SPV.0060.5	Inlet Covers Driveway	3	EACH	\$950.00	\$2,850.00		
SPV.0060.8	Sump Pump Connection and Cleanout	10	EACH	\$670.00	\$6,700.00		
SPV.0090.1	Sump Pump Connection – Pipe	350	LF	\$45.00	\$15,750.00		
SPV.0165.1	Polystyrene Insulation for Water Mains and Services	200	SF	\$4.00	\$800.00		
Storm Sewer Total				\$172,0	050.00		
Bid Total				\$667,	775.00		